2N ASEED
HM: sOHE MBI S#F5(sgddsd/s - 55
ool s&E MEEHY XA CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
A== 53,901,670 64,718,525 A 10,816,855
= 16,900,000
& 26,126,000
< 10,875,670
SOHE ME)|8 S5 (sl - 5&) 9,048,625 10,651,625 A 1,603,000
& 9,038,000
< 10,625
sz MY X4 9,048,625 10,651,625 ~1,603,000
2 9,038,000
< 10,625
SEMSSRTL (2YR) 659,000 700,000 A 41,000
= 659,000
403 A X EHHSH=20IA 659,000 700,000 A 41,000
& 659,000
01 X EHHMA=LE L 659,000 700,000 A 41,000
OSHMBNY SEMSHAFY 659,000
2 659,000
SEMEEAZH (sMER) 7,679,000 8,929,000 A 1,250,000
& 7,679,000
403 XSS A=0l& 7,679,000 8,929,000 A 1,250,000
& 7,679,000
01 X SHMA=2EE 7,679,000 8,929,000 A 1,250,000
OLBSHUAHEXNSY sEHSEAZ T 7,679,000
& 7,679,000
Hllsxd(s48%) 700,000 1,012,000 A 312,000
= 700,000
403 MtXISHHE X201 E 700,000 1,012,000 A 312,000
& 700,000
01 X SHHA2E= 700,000 1,012,000 A 312,000
OLEtsSUHEXNY HAAOISXH 700,000
& 700,000
SEXNS g 10,625 10,625 0
202 04l 10,625 10,625 0
01 2401l 10,625 10,625 0
OFFMBHY T4 =7 6,500
OALIOER BAEEY =& 4,125
EHSAME L NAWL(RELTANL/NALEA) 44,815,545 47,731,900 ~2,916,355
= 16,900,000
= 17,088,000
< 10,827,545
20| M8 BN & 1,225,345 621,200 604,145
2 143,000
< 1,082,345




SH: AT
M Z=HESAMNS & NY9NL(2ELXNEHL/XNSLTA
Sl FHMBEAINA (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 ﬁ}lgﬁ HRE2
FHEIAMNHE(ZER) 143,000 0 143,000
2 143,000
403 XX SHHS K20 & 143,000 0 143,000
2 143,000
01 XIS AZ2E X 143,000 0 143,000
O A EEZ=ZXXA =X XA 143,000
= 143,000
OFECH&2HE IR D] 240,000 240,000 0
403 XX S M S K201 A 240,000 240,000 0
01 MXHHE2BE =X 240,000 240,000 0
OO0IECt22tE It X 240,000
orsctie2ads 224 20,000 20,000 0
307 212t0| & 20,000 20,000 0
02 QI2t3 A8 X2 20,000 20,000 0
OotEeCia2te 2248 20,000
ALY Z2RAEEY 160,000 120,000 40,000
403 XX SHS K20 & 160,000 120,000 40,000
01 XIS A2E X 160,000 120,000 40,000
OALIHER 2] &4 160,000
FHMEEA M 262,345 241,200 21,145
201 LBt Y| 40,000 20,000 20,000
01 At 22l ] 40,000 20,000 20,000
OAE - FUPAI 29 10,400
OZBSFTHIAANNEAM =& 6,000
o=&dNs e 2E =X 3,600
OZ2ALLAHEFZE AMAH 29 20,000
202 o4 H| 22,345 21,200 1,145
01 2L I 22,345 21,200 1,145
oAUEYREX 7,645
FHYUoEX 8,300
OCIXI L3 A=K 6,400
403 XX SHHS K20 & 200,000 200,000 0
01 MHXHHMAHEBE = 200,000 200,000 0
OFHESIAME (s0HE HOIEY]) 200,000
st A= K& 400,000 0 400,000
403 XX S M S K201 & 400,000 0 400,000
01 AXESHHR=E2E X 400,000 0 400,000
o8t A= N 400,000




2N
X ZH -
L= B

el

AzFe
EHSZNS L NSNS (FELT /X
RS MEIBAIL =5

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET

NAMEIEAIE &5 43,590,200 47,110,700 A 3,520,500
= 16,900,000
& 16,945,000
< 9,745,200

AT ESH(HE) 10,442,000 8,308,000 2,134,000
& 7,760,000
= 2,682,000

403 MHtXSHHS =0l & 10,442,000 8,308,000 2,134,000
& 7,760,000
< 2,682,000

01 XM A=2E X 10,442,000 8,308,000 2,134,000
OEx&&XY AEEE4H 10,442,000
& 7,760,000
< 2,682,000

LT EERHE(sAMER) 9,859,000 13,592,000 A 3,733,000
& 9,185,000
< 674,000

403 MHXISHHE X201 H 9,859,000 13,592,000 A 3,733,000
& 9,185,000
< 674,000

01 X SHHAN2E= 9,859,000 13,592,000 A 3,733,000
OgtsdtHENSE AESEYH 9,859,000
& 9,185,000
S 674,000

FS0ZESHRAEFHIEES ML (22) 16,900,000 20,167,000 A 3,267,000
= 16,900,000

403 MHXSHHSA=0l& 16,900,000 20,167,000 A 3,267,000
= 16,900,000

01 X ESHMA=E L 16,900,000 20,167,000 A 3,267,000
OFe0IZSHFAIYFHIY S W 16,900,000
= 16,900,000

NG ASE K& 6,389,200 5,043,700 1,345,500

201 L2l 1,200 1,200 0

01 At 2t 2l 1,200 1,200 0
OXNGIHEAY 22 29 1,200

202 oddl 8,000 7,500 500

01 SLHOIYI 8,000 7,500 500
OXYHY setdzy & "ot 4,000
oOLIEENE g2FH 4,000

403 MtXISHH S0l & 6,380,000 5,035,000 1,345,000

01 XM A2 X 6,380,000 5,035,000 1,345,000
Ok A =Had 3| 80,000
O=Z=RU =HEFFH 100,000




SN AT
IE: FNSBNE L NAHL(ZELTSNL /NS LEA)
S NAMEIBAIE &5 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
O=ZIIE FHE3HMH 100,000
od=s 220t &AM 6,100,000
Ootrgs& dx - B2(6012) 545,000
onr2erd =4 (2400 2) 2,375,000
O=2Z&(18Ha) 1,035,000
O2wg AX(10H2) 1,100,000
Oth=2 FHI(8MH=) 400,000
OJl EHBIHALE) 645,000
HE2AZH (AS=0)(JIEH/IIE) 37,500 35,000 2,500
JlE&dl 37,500 35,000 2,500
2M29 Jl=22Z 4l 37,500 35,000 2,500
201 Let2d] 26,000 26,000 0
01 At 22l 26,000 26,000 0
ORAN2Y AtR2eltl 26,000
202 Odl 8,500 9,000 A 500
01 = LHA YI 8,500 9,000 A 500
FN2E S WAL 8,500
203 R =&t 3,000 0 3,000
04 FN2ELRZ=TH| 3,000 0 3,000
©15¢Q1 0l 5t 250,000 122 3,000




